
## Item # Correct Answer
Primary
SE

Secondary
SE

Obj/Cat

1 M061086586D C 6.2(E) [R] None STAAR: M1

2 M061104714D J 6.2(E) [R] None STAAR: M1

3 M063022577 C 6.1(E) [S] 6.13(A) [P] STAAR: M1

4 M061061014RX J 6.1(F) [S] None None

5 M061104722D C 6.2(E) [R] None STAAR: M1

6 M06025333CS H 6.2(E) [R] None STAAR: M1

7 M061148229D
A.  2 x 5 x 5 x 5  

B.  2 x 53
6.1(D) [S] 6.12(A) [P] STAAR: M1

8 M063022602 H 6.1(E) [S] None STAAR: M1

9 M061104734D

A. Patsy

B. Penny followed the correct order of the operations on the
first part of the problem and got 15. Then she did not subtract
the sum of (7 + 3) or 10. Instead Penny subtracted 7 from 15
and then added 3 to get 11.

6.2(E) [R] 6.13(B) [P] STAAR: M1

10 M061082311RX J 6.1(E) [S] None STAAR: M1

11 M061082307RX C 6.1(F) [S] None STAAR: M1

12 M061082305RX G 6.1(D) [S] 6.11(D) [P] STAAR: M1

13 M061086588D B 6.2(E) [R] 6.11(A) [P] STAAR: M1

14 M061082303RX H 6.1(D) [S] None STAAR: M1
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